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4 4Q<Wg=28Q 1.93Uq |1z % =[Q+1.25Q+2x1.55Q+ (Wq—4Q) x1.93 xUgxA
o = [Q+1.25Q42x1.55Q+4x1. 930+ (Wg—8Q) x
<
5 8Q<Wg=16Q 2.41Uq 2. 41 TxUqxA
o = [Q+1.25Q42x1.55Q+4x1. 930+ 8x2. 41Q+
6 16Q<¥a 00 (g —160) x3]xUgxA

W=7 = 5 =5 f Aok #2238 (CMD/ 28)

Ug="k & &~ ¥ i (= /)

Q=21 # % H = FA k£ (OD/2F) 5 A =% 2285 H(2F)

w2 = ~oREABE F 4 (COD-SS)

As| ok (mg/L) Y KA BT 3 o

1 Ed=Cp 1Up 1z 3 =EdxQwxUp/1000

2 | Cp<BEd=1.25Cp | 1.32Up |fc% =[Cp+ (Ed—Cp)xl. 32]xQuxUp/1000
P _

3 |1 950p<d=1.50p | 1.7aup |17 = [Co+0.25ChxI. 32+ (Ed—1. 25C0)xl. T xwx
Up/1000
Y% = [Cp+0. 25Cpx1. 32+0. 25Cpx1. T4+ (Ed—

<

4| LaCp<BA=L75Cp | 2.300p | f R 000

Y% =[Cp+0. 25Cpx1. 32+0. 25Cpx1. 74+ 0. 25Cpx
<

o | 1.TCp<Ed=2Cp | 3.03Up |9 g0\ 541 7500)x3. 03 1xQwxip/1000

Y% = [Cp+0. 25Cpx1. 32+ 0. 25Cpx1. 74+ 0. 25Cpx
<

6 | 2p<Ed=2.5Cp AP o 3040, 95Cpx3. 03+ (Ed— 2Cp)xd |xQuxUp/ 1000
Y% = [Cp+0. 25Cpx1. 32+ 0. 25Cpx1. 74+0. 25Cpx

7 | 2.5Cp<Ed=3Cp | 5.29Up [2.30+0.25Cpx3. 03-+0.5Cpxd -+ (Ed—2. 5Cp)x5. 29]x
QwxUp/1000
Y% = [Cp+0. 25Cpx1. 32+ 0. 25Cpx1. 74+ 0. 25Cpx

8 3Cp<Ed TUp  |2.30+0. 25Cpx3. 03+ 0. 5Cpxd + 0. 5Cpx5. 29+ (Ed—

3Cp)xT IxQwxUp/1000

AQE=T R R A TR TREA R E Ak EE )
Bd=3%37 75 % 4 * = $x2 k F(ng/L) 5 Cp=3%7015 % 4 2 7 -k -k k2 (ng/L)
Up=3277 73 % 4 2 fc f 8§ (= /ke)




Fw 2 = ~oRFABF

= (££5%)

B §E -k ¥ (mg/L) AR F o f B REH 3 E ot
1 Ed=Lq 0Up 1@;: =0
2 Lg<Ed=Cp 0.5Up =[(Ed—Lag)x0. 5]xQwxUp/1000
& B FE= T fa\“*#”% KEER BT RRFHEE A
; Co<bd TN iﬂﬁk“1*“£°
A FE = ”]{Fl - ’\
A B ’kﬁﬁ' (mg/L) A\}&»%’Zﬁ: ’@?’A\ 35.13:%"*-"}: AR
1 Cp<Ed=1. 25Cp 1.32Up |13 =[(Ed—Cp)x1. 32]xQwxUp/1000
#
2 1.25Cp<Ed<1.5Cp 1. 74Up i’ ifégxﬁgﬁggé 32+ (Ed ~1.25Cp) x
7 =[0.25Cpx1.3240. 25Cpx1. 74+ (Ed
3 1.5Cp<Ed=1.75Cp 2.300p |1 o e, 3o/ 1000
Yo% =[0. 25Cpx1. 324 0. 25Cpx1. 74+
4 1. 75Cp<Ed=2Cp 3.03Up 0. 25Cpx2. 30+ (Ed—1. 75Cp)x3. 03 ]x
QwxUp/1000
o7 =1[0. 25Cpx1. 32+0. 25Cpx1. T4+
5 2Cp<Ed= 2.5Cp 4Up 0. 25Cpx2. 30+ 0. 25Cpx3. 03+ (Ed—2Cp)x
4 1xQwxUp/1000
Yo ¥ =1[0.25Cpx1. 32+0. 25Cpx1. T4+
6 2.5Cp < Ed = 3Cp 5.29Up 0. 25Cpx2. 30+0. 25Cpx3. 03+ 0. 5Cpx4 +
(Ed—2. 5Cp)x5. 29 ]xQw xUp/1000
o7 =1[0. 25Cpx1. 32+0. 25Cpx1. T4+
7 3Cp < Ed TUp 0. 25Cpx2. 3040. 25Cpx3. 03+ 0. 5Cpx4 +
0. 5Cpxb. 29+ (Ed—3Cp) x7 1xQwxUp/1000

LiQueT S A TR RS B Ak E
7375 42wk R RS (ng/L) 5 Cp=3%
B G P R F (ng/L)

Lg=7%2

Ed=3%

cUp=3%3E 5 44 2 0k

(m")
AR 2T KRR (mg/L)
7Y (~/kg)




Fwzw oREFABYFEA (BB PHFRAD )

»m| ok (mg/L) XEE: KA BT R 2 E 2

1 Ed=Cp 1Ilp |7 =0

2 Cp<Ed=1.25Cp 1.32Up |1= % =[Cpx0+ (Ed—Cp)x1. 32 ]xQwxUp/1000

3 | 1.25Cp<Ed=1.5Cp | 1.74Up g;jﬁ;gggEO—FO.%CpxlﬁZ—l— (Ed—1.25Cp) x1. 74 ]x

Yo 7 =[Cpx0+0. 25Cpx1. 32+0. 25Cpx1. 74+ (Ed —

<
41 1.5Cp<Ed=1.75Cp | 2.30Up ) 50500 30 1xuxln/ 1000

Yo 7 =[Cpx0+0. 25Cpx1. 32+0. 25Cpx1. 74 +0. 25Cpx

<
o | L Ttehd=zto | 3.0300 o 30 4 (pg—1. 750p)3. 03 ]xQuxUp/1000

Yo ¥ =[Cpx0+0. 25Cpx1. 32+0. 25Cpx1. 74+ 0. 25Cpx

<
6 120p <Ed = 2.5 | 40> o 55 L0 950,303 + (Ed—2Cp) xd] xQuxUp/1000

o 7 =[Cpx0+0. 25Cpx1. 32+0. 25Cpx1. 74 +0. 25Cpx
7 12.5Cp < Ed = 3Cp| 5.29Up |[2.30+0.25Cpx3. 03+ 0. 5Cpx4 + (Ed—2. 5Cp)x5. 29 ]x
Qw xUp/1000

Yo ¥ =[Cpx0+0. 25Cpx1. 32+0. 25Cpx1. 74+ 0. 25Cpx
8 3Cp < Ed Up 2.304+0. 25Cpx3. 03+0. 5Cpx4 + 0. 5Cpx5. 29+ (Ed —
3Cp) x71xQwxUp/1000

=7 2B F AR KBREW)  Ed=9 55 A7~ ok K (ng/L)
Cp=327E 75 42 T Kok iR (ng/l) 5 Up=3%78 75 4 2 e ¥ § (< /kg)

w2z 7 toRFABY I (Fak A )

s L B S KA B 3 o
1 Cpe=pH=Cpu 0Up Yo =0
! pH<T.0 1Up
2 - Yo ¥ =QwxUp
pH>10.0 1Up
1 Cpe=pH=Cpx 0Up (ke %ﬂf =0
9 p<2. 0 1Up
2 g 1z 5 =QwxUp
pH>4.0 1Up
1 Cpe=pH=Cpu 0Up Yo =0
e
%% pH<4.0 1Up
2 | fz % =QuxUp
pH>10.0 1Up

i Qu=T S R A ERAkE M) 5 CpEEATET L Cpr i RUTE L
Up=100~/m’
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KFABEFL (B4 R)

AN B4 4R N IR o A
Ed=Cp 0Up Yo =0
Cp<Ed=1.5(Cp 1Up 1z 3 =QwxUp
1.5Cp<Ed = 3Cp 3Up 1z 7 =QwxUpx3
3Cp<Ed oUp 1 5 =QwxUpxd
] Qw=" 2 B ¥ NG Ak E () cEd=3%98 5 24 2 P R F (R H )
Cp=3#2 i3 442 T R FEE(RE ) ; Up=100~/n’
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5K x LR H # $k P
L3 R T% oD S LN R S Re | AR 4 H ki ko LA A B DR R kil BELBC TN RO
(CMD) (=/m*) | (Z/Kg) | (=/Kg) | (=/m3) B (~/Kg) | (=/Kg) | (=/Kg) | (=/Kg) | (=/Kg) | (=/Kg) | (=/Kg) | (=/Kg) r)_ﬁy (~/Kg) | (=/Kg) || (=/Kg) g ¥ (f’ @) | AaE | (AKo [ (Z/Ke) | (*/Ke)
(=/m3) (~/Ke) (~/Kg) | (~/Kg) | 24|
* & 5,000 9.67| #qx®| 45.90 100 100] 39,500| 7,900( 1,580 790 790 790 7901 1,580 790 1,580 7,900 305 305 1,000( 1,000{ 1,000{ 1,000 1,000
Nl 500 36. 45| 299.43| 211.36 100 100] 39,500 7,900( 1,580 790 790 790 7901 1,580 790 1,580 7,900 305 305 1,000{ 1,000{ 1,000{ 1,000 1,000
A 5,000 13.98| 46.77| 44.96 100 100] 39,500 7,900( 1,580 790 790 790 7901 1,580 790 1,580 7,900 305 305 1,000{ 1,000{ 1,000{ 1,000 1,000
Rk 3,500 17.61] 89.33| 159.47 100 100] 39,500 7,900( 1,580 790 790 790 7901 1,580 790 1,580 7,900 305 305| 1,000 1,000( 1,000{ 1,000| 1,000
R 12,500 10. 44 42.96| 80.57 100 100} 39,500{ 7,900 1,580 790 790 790 790| 1,580 790| 1,580 7,900 305 305| 1,000 1,000( 1,000{ 1,000| 1,000
ER< 18, 000 11.92( 12.63| 34.88 100 100} 39,500{ 7,900 1,580 790 790 790 790| 1,580 790| 1,580 7,900 305 305| 1,000 1,000( 1,000{ 1,000| 1,000
&L 16, 000 10.26f 22.38| 94.77 100 100j 39,500{ 7,900 1,580 790 790 790 790| 1,580 790| 1,580 7,900 305 305| 1,000 1,000( 1,000{ 1,000| 1,000
¥ [ % g 3, 547 9.21| 43.12| 84.61 100 100j 39,500{ 7,900 1,580 790 790 790 790| 1,580 790| 1,580 7,900 305 305| 1,000 1,000( 1,000{ 1,000| 1,000
~ [ 28,000 11.59( 19.41| 68.51 100 100} 39,500{ 7,900 1,580 790 790 790 790| 1,580 790| 1,580 7,900 305 305| 1,000 1,000( 1,000{ 1,000| 1,000
¢ 35,100 6.18| 20.46] 93.09 100 100} 39,500{ 7,900 1,580 790 790 790 790| 1,580 790| 1,580 7,900 305 305| 1,000 1,000( 1,000{ 1,000{ 1,000
Y3 11, 000 18.37| 45.48| 151.20 100 100} 39,500{ 7,900 1,580 790 790 790 790| 1,580 790| 1,580 7,900 305 305| 1,000 1,000( 1,000{ 1,000| 1,000
o 20, 000 6.87| 15.11] 52.83 100 100} 39,500{ 7,900 1,580 790 790 790 790| 1,580 790| 1,580 7,900 305 305| 1,000 1,000{ 1,000{ 1,000| 1,000

Y
g |70 S S BH 16,63 6454 9112 100 100 39,500 7,900 1,580  790| 790/ 790 790| 1.58| 790| 1.580| 7.900)  305| 305 1,000 1,000 1,000] 1,000 1,000

111#5° 1

palize| 36.10| 46.69| 45.24  100| 100 39,500] 7,900 1,580  790|  790|  790|  790| 1,580  790| 1,580 7,900]  305| 305 1,000] 1,000 1,000] 1,000 1,000
O, - 47 30p 2+
ek 112#5° |
ii;ﬁ pa113e| 45.69| 59.09| 57.25 100|100 39,500] 7,900 1,580 790|  790|  790| 790 1,580  790| 1,580 7,900  305|  305| 1,000] 1,000 1,000] 1,000 1,000
™ 4% 30p 2+

“ji‘r’;l 56.40| 72.95| 70.68| 100  100] 39,500 7,900] 1,580  790|  790|  790|  790| 1,580]  790| 1,580| 7,900  305|  305| 1,000] 1,000] 1,000 1,000 1,000
X
Fooa 16.49| 64.54| 91.12|  100]  100] 39,500 7,900 1,580  790|  790|  790|  790| 1,580  790| 1,580 7,900  305|  305| 1,000 1,000] 1,000 1,000] 1,000
PaREld S
P ERE
Fow-t 56.40| 72.95| 70.68]  100|  100| 39,500 7,900 1,580  790|  790|  790|  790| 1,580  790| 1,580| 7,900] 305  305| 1,000 1,000 1,000 1,000| 1,000
Y- 39
X
Fowos 16.49| 64.54| 91.12|  100]  100] 39,500 7,900 1,580  790|  790|  790|  790| 1,580  790| 1,580 7,900  305| 305 1,000 1,000] 1,000 1,000] 1,000
050k
$ae | 8,000 17.57| 64.54| 91.12|  100]  100] 39,500 7,900 1,580  790|  790|  790|  790| 1,580  790| 1,580 7,900  305|  305| 1,000 1,000] 1,000 1,000] 1,000
B 16, 000 12.65| 41.37| 146.23|  100]  100] 39,500 7,900 1,580  790|  790|  790|  790| 1,580  790| 1,580 7,900  305|  305| 1,000 1,000] 1,000 1,000/ 1,000
TR 13,000 17.45| 79.13| 76.28|  100]  100] 39,500 7,900 1,580  790|  790|  790|  790| 1,580  790| 1,580 7,900  305| 305 1,000 1,000{ 1,000 1,000[ 1,000
fgji** "z‘f“:?fﬁ 32.48| 96.89 101.07| 100  100| 39,500 7,900 1,580  790|  790|  790|  790| 1,580]  790| 1,580] 7,900] 305  305| 1,000 1,000 1,000 1,000| 1,000
a s 12, 000 9.93| 50.30| 133.14]  100| 100 39,500] 7,900 1,580 790| 790  790| 790 1,580  790| 1,580 7,900]  305|  305| 1,000] 1,000 1,000] 1,000 1,000
£+ 2,500 13.15| 44.65| 51.03|  100]  100] 39,500 7,900 1,580  790|  790|  790|  790| 1,580  790| 1,580 7,900  305|  305| 1,000 1,000] 1,000 1,000] 1,000
304 11, 000 12.58| 28.03| 50.22|  100]  100] 39,500 7,900 1,580  790|  790|  790|  790| 1,580  790| 1,580 7,900  305|  305| 1,000 1,000] 1,000 1,000] 1,000
- 10, 000 9.73| 29.40| 86.46]  100| 100 39,500] 7,900 1,580 790| 790  790| 790 1,580 790 1,580 7,900] 305|  305| 1,000] 1,000 1,000] 1,000 1,000




AR 4,400 9.72| 25.77| 63.11 100 100ff 39,500 7,900| 1,580 790 790 790 790| 1,580 790| 1,580 7,900 305 305 1,000{ 1,000( 1,000| 1,000{ 1,000
N s 28, 000 19.74| 43.87| 82.26 100 100ff 39,500 7,900| 1,580 790 790 790 790| 1,580 790| 1,580 7,900 305 305 1,000{ 1,000( 1,000| 1,000{ 1,000
% 7,000 8.45| 18.63| 35.41 100 100ff 39,500 7,900| 1,580 790 790 790 790| 1,580 790| 1,580( 7,900 305 305 1,000{ 1,000( 1,000| 1,000{ 1,000
A% 5, 263 9.78 42.93| 123.38 100 100ff 39,500 7,900| 1,580 790 790 790 790| 1,580 790| 1,580 7,900 305 305 1,000{ 1,000( 1,000| 1,000{ 1,000
B 400 30.23| 78.72| 189.59 100 100ff 39,500 7,900| 1,580 790 790 790 790| 1,580 790| 1,580 7,900 305 305 1,000{ 1,000( 1,000| 1,000{ 1,000
JER 84, 000 3.36) AdeF| AdeF| AALF| A F| AAF| AF| AP AfF| AF| AR AP | AP AP AP AkF| AR | AR 2| 2P| AP AR
5 108, 000 3.14 20.22| 47.14 100 100ff 39,500 7,900| 1,580 790 790 790 790| 1,580 790| 1,580 7,900 305 305 1,000{ 1,000( 1,000| 1,000{ 1,000
frid 40, 000 6.30[ 62.44| 88.15 100 100ff 39,500 7,900| 1,580 790 790 790 790| 1,580 790| 1,580( 7,900 305 305 1,000{ 1,000( 1,000| 1,000{ 1,000
- 30, 000 9.48 42.25[ 57.56 100 100ff 39,500 7,900| 1,580 790 790 790 790| 1,580 790| 1,580 7,900 305 305 1,000{ 1,000( 1,000| 1,000{ 1,000
B & 8,000 17.63| 41.02[ 80.40 100 100ff 39,500 7,900| 1,580 790 790 790 790| 1,580 790| 1,580 7,900 305 305 1,000{ 1,000( 1,000| 1,000{ 1,000
oy 5,600 11.46| 79.89| 225.56 100 100ff 39,500 7,900| 1,580 790 790 790 790| 1,580 790| 1,580( 7,900 305 305 1,000{ 1,000( 1,000| 1,000{ 1,000
thr s 600 35.31| 2 icf| Ay 100 100ff 39,500 7,900| 1,580 790 790 790 790| 1,580 790| 1,580 7,900 305 305 1,000{ 1,000( 1,000| 1,000{ 1,000

110 23.37|  92.06| 94.77 100 100ff 39,500 7,900| 1,580 790 790 790 790| 1,580 790| 1,580 7,900 305 305 1,000{ 1,000( 1,000| 1,000{ 1,000
e " ,_}23 25.24| 99.68| 102.63 100 100ff 39,500 7,900| 1,580 790 790 790 790| 1,580 790| 1,580 7,900 305 305/ 1,000{ 1,000[ 1,000 1,000| 1,000

3 56, 000 7.87( 19.43| 75.82 100 100ff 39,500 7,900| 1,580 790 790 790 790| 1,580 790| 1,580( 7,900 305 305 1,000{ 1,000( 1,000| 1,000{ 1,000
T4 28, 000 7.05[ 24.29( 93.53 100 100ff 39,500 7,900| 1,580 790 790 790 790| 1,580 790| 1,580 7,900 305 305 1,000{ 1,000( 1,000| 1,000{ 1,000
Fre 51,500 7.89( 29.24| 87.50 100 100ff 39,500 7,900| 1,580 790 790 790 790| 1,580 790| 1,580 7,900 305 305 1,000{ 1,000( 1,000| 1,000{ 1,000
2 6,000 13.37| 52.66 49.56 100 100ff 39,500 7,900| 1,580 790 790 790 790| 1,580 790| 1,580 7,900 305 305 1,000{ 1,000( 1,000| 1,000{ 1,000
Ey 16, 000 9.42[ 27.83| 76.07 100 100ff 39,500 7,900| 1,580 790 790 790 790| 1,580 790| 1,580 7,900 305 305 1,000{ 1,000( 1,000| 1,000{ 1,000
x5 12,000 11.37| 31.35| 54.79 100 100ff 39,500 7,900| 1,580 790 790 790 790| 1,580 790| 1,580 7,900 305 305 1,000{ 1,000( 1,000| 1,000{ 1,000
ALER SRAR 350 45.00[ 2 e f| 2fe | A F| AR AP AP AEF| AP AR | AP A AP AP 2P| AP AR AP AR AP AP 2P| Ak
B 14, 500 9.72| 22.83| 32.23 100 100ff 39,500 7,900| 1,580 790 790 790 790| 1,580 790| 1,580 7,900 305 305 1,000{ 1,000( 1,000| 1,000{ 1,000
S 20, 000 31.47)  91.89| 96.07 100 100ff 39,500 7,900| 1,580 790 790 790 790| 1,580 790| 1,580( 7,900 305 305 1,000{ 1,000( 1,000| 1,000{ 1,000
Ak 22,600 7.44( 16.50{ 25.00 100 100ff 39,500 7,900| 1,580 790 790 790 790| 1,580 790| 1,580 7,900 305 305 1,000{ 1,000( 1,000| 1,000{ 1,000
N 1,200 29.92| 62.86| 84.45 100 100ff 39,500 7,900| 1,580 790 790 790 790| 1,580 790| 1,580 7,900 305 305 1,000{ 1,000( 1,000| 1,000{ 1,000




